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Subject Code:3361106 Date: 04-12-2018
Subject Name:Multimedia Communication
Time:02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WML, 14
Write full form of JPEG and MPEG.
dlell gt s cvll: MPEG, DTH

Write full form of : (1 )BHCA (2)GOS
dlell gt S cull : (1)BHCA (2)GOS

Write three modes of centralized SPC
A2cA82S SPC all 21l HSs AUl

Which are the ISDN standards?
ISDN ol standards s2ll sl 82

Which are the application fields of MPEG-4?
MPEG-4 ol sl sl &0 Guala(l 82

Which are ITU-T standards.
ITU-T standards sl s2U 87?

Define following term: GEO
GEO ol catvail a4l

Write at least two digital audio and image file formats.
A [Sed A U s sloct He ol alel sletial.
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Define the term: Digital Video Broadcasting.
Digital Video Broadcasting o{l caitvaul 4.

S &

Write List of satellite subsystems.
Azclse ofl UR@eHoll €l Al

o
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Q.2 Explain DTMF dialling scheme of telephony 03

ysl.? () @8l 2 DTMF stauclol umestal. 03
OR

(@)  Draw architectural block diagram of VODSL. 03

(1) VODSL ol 2U(Besuct 6ells sl €RL 03
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(b)  Write different multimedia applications. 03
()  welyel uedl B cllsacdiotetl st @l 03
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Write and explain different satellite orbits in brief.
el el Aeclse wRollzell ot cdAvll dsHi uMesdl.

Define these terms : Erlang, Tandem Exchange
lo(l caltvaul AU: Erlang, Tandem Exchange

OR
Write a short note on EPBX.

EPBX UR &5 olltd Gul.

Explain LEO,GEOQ orbits in satellite communication
Azclse s1jA3et Hi2 LEO,GEO (ole qmesdl.

OR
Explain MPEG-4 coding of audio visual objects.

U3 (At woBse U2 MPEG-4 5\(3ol uusicl.

Explain Fascimile services of ISDN.
ISDN oll 3RS Al Aol

OR
Draw basic block diagram of Earth Station.

Earth Station oll 6clls  SI2ULH €13

State Kepler’s three laws of satellite motion in Orbits.
ARe{leHl Aectse Helototl 3uARell 2Rl (Al AHA.

OR
Explain broadband ISDN in brief.
ASsAcs ISDN gsHi UHs1Al.
Explain Broadcast DTH receivers.
DTH receiver Uz s olld W
OR

Explain various modes of Centralized SPC.
Centralized SPC oll s AH1A.

Explain telemetry, tracking and command subsystem of satellite.
Azcuseel 2@NZ2(891 WA sHIeS URRRH UHHSA.

OR
Define these: busy hour and busy hour call attempts.
Blo{l cautuv=l 2 busy hour and busy hour call attempts

Draw block diagram of MPEG-1 decoder.
MPEG-1 decoder oll 6clls SIAoUH €.

OR

What is mobile IP? Draw registration operations block diagram of mobile IP.

Helsd IP Bl2A 9? Al registration operations oll 6clls SIA2UH €RL.

Which are user and network requirement for Multimedia services.

Multimedia services e user and network requirement & s& ©?
OR

Which are the digital media? Explain any one in detail.

Digital media sl sl 8? S8 UL As AHsLl.
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Draw and explain encoder and decoder for MPEG-1 coding of Moving Pictures and
Associated Audio.
Moving Pictures ol Associated Audio Hl& MPEG-1eil encoder s\ decoder €131

A UMl

Draw and explain digital internet delivery using DTH.
DTHetl Guaolell (32d Boeale Bcllal unestal.

Write a short note on VOD.

VOD UR &5 olld cul.

Find bandwidth requirement in Mega bits per seconds for an CD quality audio i.e.
44.1 KHz sampling rate, 16 bit quantization and 2 channel stereo audio reception.
loll Aoscllse AsaauNe Now oflext/ASsHL A CD quality audio i.e. 44.1 KHz

sampling rate, 16 bit quantization and 2 channel stereo audio reception.
Given that MTBF=4000 hours and MTTR=8 hours, Calculate the unavailability for
single and dual processor SPC system with life span of 30 years.
%l MTBF=4000 5cils HUAMTTR=8 scils &lal dl SPC 30 ctl el uRlclcll A5

U A NAUR ReH 12 UAAAARAZ ol a1t 52
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